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(1) E(Xy), Var(Xy) & T2,
(2) Cov(X,,Y;) E FOHAR.
(3) Cov(Xy,Y,) E FOHAL.
(4) Cov(X; + X5,Y, + V,) & FIGHA|2,

(5) Cov(X; + Y1, X, +7Y,) & TR
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Y =3+0.6X
X=15+009Y

o — n —
Eoh y=9, Y (y; —§)?* =600 0|1, 0[2|o| FEiE AT YT 22 0]200| FHO|CH,

(BIE : V2 =1.41,V/3 =1.73,V/6 = 2.45

(1) %, Y (—%)? & FL,

(2) sample coefficient of correlation2 FL6IA|2L.
(3) R*(BEAME TSR

(4) MSEE ISIA2.

(5) t-valueE FOHA|2.
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1. [30 pts] Let A=|2 6 0]. Compute.
0 0 1

(1) arithmetic mean of eigenvalues
(2) geometric mean of eigenvalues

(3) harmonic mean of eigenvalues

2. [40pts] Let f(xy,x,) = (x; — 1)? + (x, — 1)2. Compute and Explain.
(1) local minimum of f
(2) minimize f subjectto x, > —x;
(3) minimize f subjectto x, = —x; + 2

(4) minimize f subjectto —x; + 2 > X3 = —x3,x%1 +2 = X3 = X3

3. [30pts] Compute.
d
1) a—xltan(xlxz)
1 01
(2) fo fo X1X7 dxlde

(3) ch+2n f;+2n(cos(x1) + sin(x,)) dx,dx,
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